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ON SLINKY: THE DYNAMICS OF A LOOSE, HEAVY SPRING
By M. S. LONGUET-HIGGINS
Received 24 November 1953

Introduction. A simple but intriguing philosophical toy has recently appeared on
the market under the trade-name ‘Slinky’. It consists of a single flat-coiled spring of
phosphor-bronze, 3in. in diameter and 24 in. in length, when closely coiled. According
to the directions, the spring is placed upright at the top of a flight of stairs and the
upper end is lifted and allowed to fall on to the stair next below. The spring then
uncoils itself on to the lower stair, and the end that was at the bottom of the coil flips
over on to the stair next but one below. The cycle is repeated and the Slinky walks
furtively down the stairs, at a surprisingly steady rate.
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Fig. 1. Illustrating the action of the Slinky.

The present writer was moved by this remarkable behaviour to attempt to calculate
the rate of descent of the stairs. In the following note a simple solution is presented.
It is assumed that (1) the spring obeys Hooke’s law and (2) a “shock’, or discontinuity
in the density, forms at the top of the coil on the upper stair. It is then shown that the
rate at which the spring uncoils depends only on the characteristics of the spring, and
hence that the time taken for one step is independent of the height of the stair. This
is confirmed by experiment, and the predicted rate of descent is closely verified.
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1. Idealization of the problem. For the present purpose we neglect all motion of the
spring at right angles to its axis, and all curvature of the axis. The spring is treated as
a heavy, elastic fluid flowing along a thin tube. Let

z = distance measured along the axis,

p = density, i.e. mass per unit distance along the axis,
« = component; of velocity parallel to the axis,

T = component of reaction parallel to the axis.

We assume Hooke’s law, namely, that the tension 7" is proportional to the extension
of the spring from its unstressed state. If the spring is unstressed when very closely
coiled, the extension of the spring is inversely proportional to its density. Hence

Hooke’s law can be written C

where C is a constant,

2. Conditions at a discontinuity. Suppose that when z <z, the spring is closely
coiled and stationary (p = o0, % = 0), and, when z>2,, p, » and 7 are all finite and
different from zero (see Fig. 2). To the left of 2 = 2, the tension vanishes, since
T = C[p = 0, but there may possibly be a reaction R between the coils of the spring.
If the spring is not ‘sticky’ R cannot be negative.
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Fig. 2.
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In a short interval of time d¢ a length of spring dz = %4t is unwound from the coil.
The momentum imparted to this length depends only on the external forces acting
on it. Hence pu.udt=(R+T)6t, (2)
and so put=R+T, 3)

We shall now show that, if the spring is uncoiling, B = 0. For, the loss of energy in
the element of spring in time J¢ is given by

work done — kinetic energy gained — elastic energy gained
= T8z —}pu?bx — 3T 8z
= }(T' —pu?) b
= — }Rudl. (4)
This cannot be negative. Therefore if  is positive we must have R< 0. But R> 0, and
so R=0.
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Therefore, from equation (3), put =T, (5)
and, since 1/p#0,

prut =pT =0C, (6)

pu = C*, (7)

Thus the rate of uncoiling, pu, is a constant, characteristic of the spring.

If we imagine a velocity —u to be superposed on the system, we have a stationary
spring along which a shock wave is spreading; the front advances or retreats according
as u is negative or positive. The rate at which mass is passing through the front is + C1,
provided R is zero, and this remains true whatever velocity is superposed.

3. T'he staircase problem. The sequence of events is as shown in Fig. 1. Let us suppose
that when the spring is uncoiling there is a discontinuity in the density at the upper
coil (at the point P in Fig. 1(a)). Then the rate of uncoiling at that point is Ct, by
equation (7). When the coil is unwound (Fig. 1 (b)) and the tail end of the coil leaves
the upper stair, the tension at the tip falls suddenly to zero. Therefore a shock wave,
behind which 7' = 0 and p = 0, spreads through the spring, and the rate at which it
devours the tail is just C%. (The tail being free we may assume R = 0 in the tip.) Thus
if the tail takes a time ¢, between leaving the upper stair and arriving at the lower coil
(Fig. 1(d)) its mass m, equals C,. The tail then overturns (Fig. 1 (e)), and the lower
coil begins to uncoil immediately. If m, is the mass of the lower coil, the time {, that it
takes touncoil is m,/Ct. By this time the spring is again asin Fig. 1 (b), but a step lower.
The total time ¢ taken for a cycle is given by

my, M
- »
where M is the total mass. A shock wave has passed right through the spring at
a constant rate Ct, starting from the tail at 1 (b) and changing its type at the rebound
between 1 (d) and 1 (e).

We may therefore expect that the time taken for the Slinky to descend = steps is
simply nt, where ¢ is given by (8). This is independent of the height of each step.

The ratio M/C* may be determined independently by a simple experiment. Let the
spring be suspended vertically, with its lower end free. If z is measured upwards from

t=1+t; =

the bottom we have T
T
where g denotes gravity. Substituting from (1) we have
19 /1 g
o3(s) =& i
and so on integration
1 gz
— = 2 1
32" C + constant, (11)
The constant of integration is zero, si.nce}) = g = 0 when z = 0. Thus
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